2.023-2024 Exencises sheet 2 - Connections 11 Option Openation Theory Exercise 2. (1). Tis the multiplication operator by the real-valued and bounded function Q: E0,27-Dir honce it is self-adjoint ond bomded with: $||T||_{\chi(2^2(E_0,21))} = ||Q||_{\infty} = 2.$ · Assume that T is compact. Then, by the Eredholm alternative, either $(I-T)^{-1}$ exists and is bounded in Tu = u admits a non-cero solution u. But: $Tu = u = tz \in [0, 2]$, z u (a) = u (a)



2. Assume that moreover the In are real numbers. The Infa
are therefore self-adjoint operators and T is self-adjoint
operators and T is self-adjoint
operators: indeced, since fill
for every n conv,
$$(I_n P_n)^* = I_n P_n^* = I_n P_n^*$$
 and:
 $\|(I_n P_n)^* - T^*\|_{\mathcal{A}(H)} = \|(I_n P_n - T)^*\|_{\mathcal{A}(H)} = \|I_n P_n - T\|_{\mathcal{A}(H)} = \|(I_n P_n - T)^*\|_{\mathcal{A}(H)} = \|I_n P_n - T\|_{\mathcal{A}(H)} = I_n P_n^* = I_n P_n^*$
By uniqueness of the limit: $T = T^*$.

(4

5 Exercise 5
1: Let
$$(e_n|_{n \in \mathbb{N}}$$
 on withonormal family (which is completed in a
Without books of necessary). Them: $t_n \in \mathbb{N}$, $\|T_{e_n}\|_2^2 = (T_{e_n}|T_{e_n}) = (T^*T_{e_n}|e_n)$.
 \Rightarrow If $T \in B_2(\mathcal{H})$, there exists $M > 0$,
 $f_N \ge 0$, $\sum_{n \in \mathbb{N}} \|T_{e_n}\|^2 \le M$
 $\|N = 0$, $\sum_{n \in \mathbb{N}} (T^*T_{e_n}|e_n) \le M$
 $\|N = 0$, $(T^*T_{e_n}|e_n) \ge 0$, the sequence $(\sum_{n \in \mathbb{N}} (T^*T_{e_n}|e_n))$
is increasing and bounded by M hone it converges.
 $Then: T_n(T^*T) = \sum_{n \in \mathbb{N}} (T^*T_{e_n}|e_n) \le M \le t = 0$

(a) If
$$T_{\Lambda}(T^{*}T) \leq t_{\Lambda}$$
 then by positivity:
 $+N \geq 0$, $\sum_{n=0}^{N} (T^{*}Te_{n}|e_{n}) \leq T_{\Lambda}(T^{*}T) := M$
(a) $+N \geq 0$, $\sum_{n=0}^{N} ||Te_{n}||_{H}^{2} \leq T_{\Lambda}(T^{*}T)$
2. Sorient TEB(H), $\geq \geq 0$ and $\{e_{0}, \dots, e_{n}\}$ an orthonormal
formily such that:
 $\sum_{n=0}^{N} ||Te_{n}||^{2} \geq ||T||_{H^{2}}^{2} - \epsilon^{2}$
Let $V = \operatorname{Vect}(e_{0}, \dots, e_{N})$. Then $H = V \neq V^{\perp}$ since V is
finite dimensional thence closed.
Let $u \in H$, $||u||_{H} = 1 \cdot \frac{1}{2}! (u_{v}, u_{v^{2}}) \in V \times V^{\perp}, u = u_{v} + u_{v^{\perp}}$

ond woing Rythagore,
$$\|u\|_{h}^{2} = \|u_{v}\|_{h}^{2} + \|u_{vL}\|_{h}^{2} = 1$$

In ponticulon, $\|u_{v}\|_{h} \leq 1$ and $\|u_{vL}\|_{h} \leq 1$.
One has:
 $(T - TP_{N})u = (T - TP_{N})u_{v} + (T - TP_{N})u_{vL}$
 $= T(T - P_{N})u_{v} + T(T - P_{N})u_{vL}$
But $T - P_{N}$ is the orthogonal projection on V^{\perp} and since $ImP_{N} = V$
 $(I - P_{N})u_{v} = 0$ and $(I - P_{N})u_{vL} = u_{vL}$
Therefore: $n(T - TP_{N})u\|_{h} = \|Tu_{vL}\|_{h}$
Moreover, $(e_{0}, \dots, e_{v}, \frac{u_{vL}}{||u_{vL}||})$ is an orthonormal formily
hence by definition of $\|\|\|_{HS}$:

(4)

(8)
$$\|T\|_{HK}^{2} - \varepsilon^{2} + \frac{1}{\|u_{VL}\|^{2}} \||Tu_{VL}\|^{2} \leq \sum_{n=0}^{N} \|To_{n}\|^{2} + \|T(\frac{u_{VL}}{\|u_{VL}\|})\|^{2} \leq \|T\|_{HK}^{2}$$

$$In pontionlon: \|T\|_{HK}^{2} - \varepsilon^{2} + \frac{1}{\|u_{VL}\|^{2}} \|Tu_{VL}\|^{2} \leq \|Tu_{VL}\|^{2}$$

$$= \|Tu_{VL}\|^{2} \leq \varepsilon^{2} \|u_{VL}\|^{2} \leq \varepsilon^{2}$$

$$Therefore, \||T-TP_{N}|\| \leq \|T-TP_{N}\|\| \leq \varepsilon$$
which implies that $\|T-TP_{N}\|\|_{\mathcal{X}(M)} \leq \varepsilon$

$$3: We deduce that T is the limit of the finite ronk operators TP_{N} , hence it is a compact operator.$$

9 Let
$$(e_{m})_{n\in\mathbb{N}}$$
 an orthonormal formity of $L^{2}(X)$ and let $NO(A)$.
Then: $\int_{m=0}^{\infty} \|T_{k}e_{m}\|^{2} = \sum_{n=0}^{\infty} \int_{X} \left| \int_{X} k(u_{1}y) e_{m}(y)dy \right|^{2} da$
 $= \sum_{m=0}^{N} \int_{X} \left| \left(|\overline{k(u_{1}, \cdot)}|e_{m} \right) \right|^{2} da$
 $= \int_{X} \sum_{m=0}^{N} |le_{m}| |\overline{k(u_{1}, \cdot)}|^{2} da$
But, noting Based inequality.
 $\sum_{m=0}^{N} |le_{m}| |\overline{k(u_{1}, \cdot)}|^{2} \leq \sum_{m=0}^{N} |le_{m}| |\overline{k(u_{1}, \cdot)}|^{2} \leq ||k(u_{1}, \cdot)||^{2}_{L^{2}(X)}$
Hence: $\sum_{m=0}^{N} ||T_{k}e_{m}||^{2} \leq \int_{X} ||k(u_{1}, \cdot)||^{2}_{L^{2}(X)} da = ||K||^{2}_{L^{2}(XX)}$
En porticultion, $T_{k} \in \mathbb{B}_{2}(H)$.



Exencise 6:

1. Let J_{I} be the characteristic function of the interval I. Then $J_{I} \in l^{2}(CO, 1)$ and applying the definition of the positivity of Tk: $0 \leq (T_{k})_{I} | 1_{I}) = \int_{0}^{1} T_{k} y_{I} | a = \int_{1}^{1} (T_{k}) dx = \int_{1}^{1} (T_{k}) dx$ $= \int_{I} \left(\int_{0}^{1} k G_{i,y} \right) I_{I}(y) dy dh$ $= \int_{T} \int_{T} k(x, y) dx dy$ In ponticular for $x \in J_{0,1}$ and n > 1 such that $I_m = \left[x - \frac{1}{m}, x + \frac{1}{m} \right] \subset [2,1]$

Hence and Skin, y) Galyily is milionly continuous (13)hence continuous and so is Q_n since $I_n \neq 0$. Let N>1. Weset forevery n, y & CO, 1], **b.** KN(n,y) = K(n,y) - Z In (In (n) (In (y)) n=0 Let us prove that Ticn's a positive operation.
$$\begin{split} \text{Let} \left\{ \in \mathcal{L}^{2}(\mathcal{L}_{0}, 1) \right\} &= \int_{1}^{1} \left(\int_{1}^{1} \mathcal{K}_{N}(\mathcal{H}_{1}, y) f(y) \, dy \right) \widehat{f(x)} \, dx \\ &= \int_{1}^{1} \left(\int_{1}^{1} \mathcal{K}_{1}(\mathcal{H}_{1}, y) f(y) \, dy - \int_{1}^{1} \sum_{m=0}^{1} \int_{1}^{1} \mathcal{L}_{m}(\mathcal{H}_{1}, y) f(y) \, dy \right) \widehat{f(x)} \, dx \\ &= \int_{1}^{1} \left(\int_{1}^{1} \mathcal{K}_{1}(\mathcal{H}_{1}, y) f(y) \, dy - \int_{1}^{1} \sum_{m=0}^{1} \int_{1}^{1} \mathcal{L}_{m}(\mathcal{H}_{1}, y) f(y) \, dy \right) \widehat{f(x)} \, dx \end{split}$$
 $= (T_{k} | I_{j}) - \sum_{m=0}^{N} \int_{m=0}^{1} (q_{m} h_{m}) \left(\int_{m}^{1} (q_{m} y_{m}) f(y) dy \right) f(h) dh$ $(f_{j} | q_{m})$

 $= (T_k \{ | \}) - \sum_{m=0}^{N} J_m (f | q_m) \int (q_m h) \overline{f} h h$ $= (T_{k} f | f) - \sum_{m=1}^{N} \lambda_{m} (f | q_{m}) (q_{m} | f)$ $= \sum_{n=0}^{\infty} f_n(g(q_n)(q_n)) - \sum_{m=0}^{\infty} f_m(g(q_n)(q_n))$ = $\sum_{m=N+1}^{roo} \ln |(p|Q_m)|^2 \ge 0$. since the $\int_{m} \sum_{m=1}^{roo} 0$. Idence Tre, is positive. Using question 1, for every n E BOD, Kn/m, n) > O. i.e. treEDOD, K(m, n) > 2 h 10/m(m) 2

(15) Since the An are possitive, $\begin{pmatrix} N \\ M \end{pmatrix}$ is an increasing sequence which is upper bounded by $\int_{N}^{1} kG_{n}$, nich , hence $\int_{M}^{1} cV$. b. One has pereveny n EEO, 1], $\int_{-\infty}^{\infty} K(x_{1},y_{1}) f(y_{1}) dy - \sum_{m=0}^{\infty} J_{m} (g(q_{m}) (q_{m} (n)) = T_{k} g(x_{1}) - \sum_{m=0}^{\infty} (g(q_{m}) (T_{k} (q_{m}))/y_{1})$ $= T_{k} g(x_{1}) - T_{k} (\sum_{m=0}^{\infty} (g(q_{m}) (q_{m}) (x_{1})) = [S_{k}(h,y)] f(y_{1}) - \sum_{m=0}^{\infty} (g(q_{m}) (q_{m}) (q_{m}) (x_{1})) = [S_{k}(h,y)] f(y_{1}) - \sum_{m=0}^{\infty} (g(q_{m}) (q_{m}) (q_{m}) (x_{1})) = [S_{k}(h,y)] f(y_{1}) - \sum_{m=0}^{\infty} (g(q_{m}) (q_{m}) (q_{m}) (x_{1})) = [S_{k}(h,y)] f(y_{1}) - \sum_{m=0}^{\infty} (g(q_{m}) (q_{m}) (q_{m}) (x_{1})) = [S_{k}(h,y)] f(y_{1}) - \sum_{m=0}^{\infty} (g(q_{m}) (q_{m}) (q_{m}) (x_{1})) = [S_{k}(h,y)] f(y_{1}) - \sum_{m=0}^{\infty} (g(q_{m}) (q_{m}) (q_{m}) (x_{1})) = [S_{k}(h,y)] f(y_{1}) - \sum_{m=0}^{\infty} (g(q_{m}) (q_{m}) (q_{m}) (x_{1})) = [S_{k}(h,y)] f(y_{1}) - \sum_{m=0}^{\infty} (g(q_{m}) (q_{m}) (q_{m}) (x_{1})) = [S_{k}(h,y)] f(y_{1}) - \sum_{m=0}^{\infty} (g(q_{m}) (q_{m}) (q_{m}) (x_{1})) = [S_{k}(h,y)] f(y_{1}) - \sum_{m=0}^{\infty} (g(q_{m}) (q_{m}) (q_{m}) (x_{1})) = [S_{k}(h,y)] f(y_{1}) - \sum_{m=0}^{\infty} (g(q_{m}) (q_{m}) (q_{m}) (x_{1})) = [S_{k}(h,y)] f(y_{1}) - \sum_{m=0}^{\infty} (g(q_{m}) (q_{m}) (q_{m}) (x_{1})) = [S_{k}(h,y)] f(y_{1}) - \sum_{m=0}^{\infty} (g(q_{m}) (q_{m}) (q_{m}) (x_{1})) = [S_{k}(h,y)] f(y_{1}) - \sum_{m=0}^{\infty} (g(q_{m}) (q_{m}) (q_{m}) (q_{m}) (x_{1})) = [S_{k}(h,y)] f(y_{1}) - \sum_{m=0}^{\infty} (g(q_{m}) (q_{m}) (q_$

Honce the uniform convergence of SIM (JIP) (m to Tkg. C. Let $p \leq q$ be two integers. One has for every $\pi, \eta \in I3, I$, $\left| \begin{array}{c} 2\\ m=p \end{array}\right|_{m=p} \left| \left(q_{n} h_{n}\right) \overline{q_{n}} (\eta) \right| \leq \left(\begin{array}{c} 2\\ m=p \end{array}\right) \left| \left(q_{n} h_{n}\right)^{2} \right|_{2} \left(\begin{array}{c} 2\\ m=p \end{array}\right) \left| \left(q_{n} h_{n}\right)^{2} \right|_{2} \left(\begin{array}{c} 2\\ m=p \end{array}\right) \left| \left(q_{n} h_{n}\right)^{2} \right|_{2} \left(\begin{array}{c} 2\\ m=p \end{array}\right) \left| \left(q_{n} h_{n}\right)^{2} \right|_{2} \left(\begin{array}{c} 2\\ m=p \end{array}\right) \left| \left(q_{n} h_{n}\right)^{2} \right|_{2} \left(\begin{array}{c} 2\\ m=p \end{array}\right) \left| \left(q_{n} h_{n}\right)^{2} \right|_{2} \left(\begin{array}{c} 2\\ m=p \end{array}\right) \left| \left(q_{n} h_{n}\right)^{2} \right|_{2} \left(\begin{array}{c} 2\\ m=p \end{array}\right) \left| \left(q_{n} h_{n}\right)^{2} \right|_{2} \left(\begin{array}{c} 2\\ m=p \end{array}\right) \left| \left(q_{n} h_{n}\right)^{2} \right|_{2} \left(\begin{array}{c} 2\\ m=p \end{array}\right) \left| \left(q_{n} h_{n}\right)^{2} \right|_{2} \left(\begin{array}{c} 2\\ m=p \end{array}\right) \left| \left(q_{n} h_{n}\right)^{2} \right|_{2} \left(\begin{array}{c} 2\\ m=p \end{array}\right) \left| \left(q_{n} h_{n}\right)^{2} \right|_{2} \left(\begin{array}{c} 2\\ m=p \end{array}\right) \left| \left(q_{n} h_{n}\right)^{2} \right|_{2} \left(\begin{array}{c} 2\\ m=p \end{array}\right) \left| \left(q_{n} h_{n}\right)^{2} \right|_{2} \left(\begin{array}{c} 2\\ m=p \end{array}\right) \left| \left(q_{n} h_{n}\right)^{2} \right|_{2} \left(\begin{array}{c} 2\\ m=p \end{array}\right) \left| \left(q_{n} h_{n}\right)^{2} \right|_{2} \left(\begin{array}{c} 2\\ m=p \end{array}\right) \left| \left(q_{n} h_{n}\right)^{2} \right|_{2} \left(\begin{array}{c} 2\\ m=p \end{array}\right) \left| \left(q_{n} h_{n}\right)^{2} \right|_{2} \left(\begin{array}{c} 2\\ m=p \end{array}\right) \left| \left(q_{n} h_{n}\right)^{2} \right|_{2} \left(\begin{array}{c} 2\\ m=p \end{array}\right) \left| \left(q_{n} h_{n}\right)^{2} \right|_{2} \left(\begin{array}{c} 2\\ m=p \end{array}\right) \left| \left(q_{n} h_{n}\right)^{2} \right|_{2} \left(\begin{array}{c} 2\\ m=p \end{array}\right) \left| \left(q_{n} h_{n}\right)^{2} \right|_{2} \left(\begin{array}{c} 2\\ m=p \end{array}\right) \left| \left(q_{n} h_{n}\right)^{2} \right|_{2} \left(\begin{array}{c} 2\\ m=p \end{array}\right) \left| \left(q_{n} h_{n}\right)^{2} \right|_{2} \left(\begin{array}{c} 2\\ m=p \end{array}\right) \left| \left(q_{n} h_{n}\right)^{2} \left(q_{n} h_{n}\right)^{2} \left(q_{n} h_{n}\right) \left| \left(q_{n} h_{n}\right)^{2} \left(q_{n} h_{n}\right) \left(q_{n} h_{n}\right$ But $\left(\sum_{n=p}^{2} \frac{1}{n} |q_n(y)|^2\right)$ cu uniformly by Dini's theorem since

for any
$$y$$
, $\sum A_n |Q_n |y|^2 \propto (it is 7 and \leq k(y, y))$.
Hence: $\forall E > 0$, $\exists N_E \in TV$, $\forall q > p > N_E$, $\sum_{n=p}^{L} A_n |Q_n |y||^2 \leq E$
uniformly in y .
Using the uniform Cauchy criterion, it implies that
the serie $\sum A_n (Q_n h) Q_n (y) \propto uniformly in y or Eq.1) for
only fixed $x \in E_0 \cap I$.
It remains to compare the limit. We apply 3.6. with
 $\exists p = \int [y - \frac{1}{2}, \frac{1}{2} + \frac{1}{2}] \quad \text{for } y \in J_0 \cap IE$, $\int p = \sqrt{E_2 \cap I} \cap \frac{1}{2} \quad y = 0$ and
 $\int p = \int [y - \frac{1}{2}, \frac{1}{2} + \frac{1}{2}] \quad \text{for } y \in J_0 \cap IE$.$

(17

Then,
$$(P_{p}|Q_{n}) = \int_{a}^{b} I_{p}(t) Q_{n}(t) dt \longrightarrow T_{m}(t_{p})$$

bence: $t_{a,q} \in T_{0}, 0, Z \downarrow_{n}(I_{p}|Q_{n}) Q_{n}(h) \longrightarrow \sum_{n \geq 0} \int_{a}^{b} Q_{n}(t_{p}) Q_{n}(h)$
by uniform conveyonce.
But $Z \downarrow_{n}(P_{p}|Q_{n}) Q_{n}(h) = \int_{a}^{b} K(a, t) \int_{p \neq 1,\infty} K(h, y)$
Hence: $\sum_{n \geq 0} \int_{a}^{b} Q_{n}(y) Q_{n}(h) = K(h, y)$.
d. Since it cu uniformly in y, one can let y bud to x
in the previous equality:
 $K(h, x) = \sum_{n \geq 0} \int_{a}^{b} (Q_{n}(h))^{2}$

(16)

(19) Then:
$$\int k(u, x) du = \int \sum_{m \ge 0}^{1} \lambda_m \left[l(h, h) \right]^2 du = \sum_{\substack{n \ge 0 \\ p \le 0}} \lambda_m \int l(h, h) \int du = \int \sum_{\substack{n \ge 0 \\ n \ge 0}} \lambda_m \int \int \frac{1}{2} \lambda_m \int \frac{1}{2} \left[l(h, h) \right]^2 du = \int \sum_{\substack{n \ge 0 \\ n \ge 0}} \lambda_m = \int k(h, x) du \quad (Moncen's formula).$$